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Sem. I / II
Surv & Measure

Full Marks : 80
Pass Marks : 26

PTO

Answer all 20 Questions from Group-A, each question carries 1 mark.
xzqi&A ls lHkh iz’uksa ds mÙkj nsa] izR;sd iz’u dk eku 1 vad gSA

Answer all five questions from Group-B, each question carries 4 marks.
xzqi&B ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 4 vad gSA

Answer all five questions from Group-C, each question carries 8 marks.
xzqi&C ls ik¡p iz’ukas ds mÙkj nsa] izR;sd iz’u dk eku 8 vad gSA

All parts of a question must be answered at one place
in sequence, otherwise they may not be evaluated.

,d iz’u ds lHkh va’kks dk mÙkj ,d gh txg ¼yxkrkj Øe esa½ gksuk
pkfg,] vU;Fkk os ugha tk¡ps tk ldrs gSaA

The figures in right hand margin indicate full marks
nk,¡ ikÜoZ ds vad iw.kkZ ad ds lwpd gSaA



GROUP-A
1. Choose the most suitable answer from the following options.

¼lokZf/kd mi;qZDr fodYi dks pqudj fy[ksa½ %&

(i) The survey in which the curvature of earth is taken into
account is called
(a) Plane survey
(b) Geodetic survey
(c) City survey
(d) All of the above

(i) losZ{k.k ftlesa i`Foh dh oØrk dks ekU;rk nh tkrh gS]

dgykrk gS%

(v) lery losZ{k.k
(c) Hkw&i`"B losZ{k.k

(l) uxj losZ{k.k

(n) mi;qZDr lHkh

(ii) If the smallest division of a vernier is longer than the
smallest division of its main scale, the vernier is known
as:
(a) Direct vernier
(b) Simple vernier
(c) Retrogracle vernier
(d) None of these
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(ii) ;fn ofuZ;j dk lcls NksVk Hkkx eq[; iSekus ds lcls NksVs

Hkkx ls cM+k gks] rks ml ofuZ;j dks dgk tkrk gS %&

(v) lh/kk ofuZ;j
(c) lk/kkj.k ofuZ;j

(l) i'pxkeh fofuZ;j

(n) buesa ls dksbZ ugha

(iii) Which of the following angle/angles can be set out
with the help of french cross staff ?
(a)  450  only
(b) 900  only
(c) Both (a) & (b)
(d) None of these

(iii) fuEukafdr esa ls fdu dks.k@dks.kks a dks Ýsap xqfu;k ;a=

}kjk fu/kkZfjr fd;k tk ldrk gS\

(v) dsoy 450

(c) dsoy 900

(l) (v) vkSj (c) nksuks a
(n) buesa ls dksbZ ugha

(iv) Revenue chain consists of:
(a) 100 links
(b) 66 links
(c) 33 links
(d) 16 links



(iv) jsoU;w tjhc esa fdruh dfM+;k¡ gksrh gSa \

(v) 100 dfM+;k¡
(c) 66 dfM+;k¡
(l) 33 dfM+;k¡
(n) 16 dfM+;k¡

(v) The error due to bad ranging is :
(a) Cumulative positive
(b) Cumulative , negative
(c) Both (a) & (b)
(d) None of these

(v) xyr vkjs[ku ds dkj.k =qfV gksrh gS %

(v) lap;h /kukRed
(c) lap;h _.kkRed

(l) (v) vkSj (c) nksuks a
(n) buesa ls dksbZ ugha

(vi) The angle between two plane mirrors of an optical
square should be:
(a) 300

(b) 450

(c) 600

(d) 900
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(vi) izdk'kh; xqfu;k ds nks leary niZ.kksa ds chp dk dks.k

fdruk gksuk pkfg, \

(v) 300

(c) 450

(l) 600

(n) 900

(vii) The principle of chain survey is to divide the area into a
number of connected.
(a) Circles
(b) Squares
(c) Rectangles
(d) Triangles

(vii) tjhc los Z{k.k fl)kUr ds vuqlkj iwjs {ks= dks fdl

izdkj ds ,d nwljh ls tqM+ s gq, {ks=k s a es a ck¡Vk tkrk gS\

(v) o`rkdkj
(c) oxkZdkj

(l) vk;rkdkj

(n) f=Hkqtkdkj

(viii) Prismatic compass measures bearings in:
(a) Whole circle bearing system
(b) Quadrantal bearing system
(c) Both (a) & (b)
(d) None of these



7 02105/01205/P0120502105/01205/P01205 6

PTO

(viii) fizTeh fnd~lwpd }kjk fnd~eku fdl i)fr esa ekik tkrk

gS \

(v) iw.kZo`r fnd~eku i)fr

(c) prqFkkZa'k fnd~eku i)fr

(l) (v) vkSj (c) nksuks a
(n) buesa ls dksbZ ugha

(ix) The quadrantal beering of a line is S150 W it's whole
circle bearing is :
(a) 150

(b) 1650

(c) 1950

(d) 2050

(ix) ,d js[kk dk prqFkkZ'k fnd~eku S150 W gS bldk iw.kZo`r
fnd~eku gksxk%

(v) 150

(c) 1650

(l) 1950

(n) 2050

(x) At magnetic poles the dip of magnetic needle is:
(a) 00

(b) 300

(c) 600

(d) 900

(x) pqEcdh; /kz qo ij pqEcdh; lwbZ dk >qdko ufr gksrk gS%

(v) 00

(c) 300

(l) 600

(n) 900

(xi) In plane table survey trough compass is used for.
(a) Centring
(b) Levelling
(c) Orientation
(d) All of the above

(xi) iVy losZ{k.k esa Js.kh fnd~lwpd dk iz;ksx fdlds fy,

gksrk gS \

(v) dsUnz.k
(c) leryu

(l) fnd~LFkkiu
(n) mi;qZDr lHkh

(xii) In plane table survey, the plotting of in accessible points
can be done by:
(a) method of radiation
(b) method of intersection
(c) method of traversing
(d) All of these above
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(xii) iVy losZ{k.k esa vxE; fcUnqvksa dk vkys[ku fdlds }kjk

fd;k tkrk gS \

(v) fofdj.k fof/k
(c) izfrPNsnu fof/k

(l) ekykjs[ku fof/k

(n) mi;qZDr lHkh

(xiii) Which of the following methods are available for solution
of  "three point problem" ?
(a) Mechanical method
(b) Graphical method
(c) Lehmann's method
(d) All of the above

(xiii) ßf=fcUnq leL;kÞ ds gy ds fy, fuEukafdr es a ls

dkSu&lh fof/k miyC/k gS\

(v) esdkfudy fof/k
(c) ys[kkfp=h; fof/k

(l) ygseku fof/k

(n) mi;qZDr lHkh

(xiv) The still water surface of a pond represents:
(a) Level surface
(b) Horizontal surface
(c) Curved surface
(d) None of these.

(xiv) fdlh 'kkUr rkykc ds ikuh dh lrg fdls fu:fir djrh

gS\

(v) lery lrg
(c) {kSfrt lrg

(l) oØ lrg

(n) buesa ls dksbZ ugha

(xv) Staff reading over a station whose elevation is known,
is called:
(a) Fore sight
(b)  Back sight
(c) Intermediate sight
(d)  None of these

(xv) Kkr mPprk okys LVs'ku dk xt ikB~;kad dgykrk gS%

(v) vxzkoyksdu

(c)  i'pkoyksdu
(l) e/;koyksdu

(n)  buesa ls dksbZ ughaA
(xvi) Which of the following levelling staff consists of a ver-

nier?
(a) Self reading staff
(b) Target staff
(c) Both (a) & (b)
(d) None of these
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(xvi) fuEukafdr esa ls fdl rys{k.k xt esa ofuZ;j jgrk gSa \

(v) Lo;aokfpr xt
(c) y{; okfpr xt

(l) (v) vkSj (c) nksuks a
(n) buesa ls dksbZ ugha

(xvii) Which of the following sight in levelling is also known as
minus sight ?
(a) Back sight
(b) Fore sight
(c) Both (a) & (b)
(d) None of these

(xvii) rys{k.k esa fdl voyksdu dks _.kkRed voyksdu Hkh

dgrs gSa\

(v) ik';koyksdu
(c) vxzkoyksdu

(l) (v) vkSj (c) nksuks a
(n) buesa ls dksbZ ughaA

(xviii) Closed contour lines with higher value inside repre-
sent a:
(a) Hill
(b) Pond
(c) Plane land
(d) All of the above

(xviii) vUnj dh rjQ vf/kd ekuokyh cUn leksPp js[kk,¡ fdls

fu:fir djrh gSa\

(v) igkM+h
(c) rkykc

(l) lery Hkwfe

(n) mi;qZDr lHkh

(xix) The operation consisting of revolving the telescope
of a theodolite through 1800 in a vertical plane about
its horizontal axis is called
(a) Swinging
(b) Transiting
(c) Both (a) & (b)
(d) None of these.

(xix) fFk;ksMksykbV dh nwjchu dks {k Sfrt v{k ds ifjr% Å/

okZ/kj ry es a 1800 ls ?kqekus dh izfØ;k dgykrh gS%

(v) fLoafxax
(c) Vªk aftfVax

(l) (v) vkSj (c) nksuks a
(n) bues a ls dksb Z ughA

(xx) The size of theodolite is specified by :
(a) The length of telescope
(b) Diemeter of upper plate
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(c) Diemeter of lower plate
(d) None of these

(xx) fFk;ksMksykbV dk vkdkj fdlls fufnZ"V fd;k tkrk gS\

(v) nwjchu dh yEckbZ ls
(c) Åijh IysV ds C;kl ls

(l) fupyh IysV ds O;kl ls

(n) buesa ls dksbZ ughaA

GROUP-B
Answer all Five questions : 4 x 5 = 20
lHkh ik¡p iz'uksa ds mÙkj nsaA

2. Differentiate between following terms:
(a) Ranging Rod and offset Rod

 (b) Bench Mark and Datum
fuEukafdr inksa esa vUrj crk,¡%

(v)  vkjs[ku n.M vkSj vUryZEc n.M

(c) ryfpã vkSj x`ghr ry      4
OR (vFkok)

Define surveying. Write principles of surveying.
losZ{k.k dh ifjHkk"kk fy[ksaA losZ{k.k ds fl)kUrks dks fy[ksaA 4

3. Compare prismatic compass and surveyar's compass.
fizTeh fnd~lwpd vkSj losZ{kd fnd~lwpd dh rqyuk djsaA 4

OR (vFkok)
Define offset. The distance measured between two points
on a sloping ground is 500m. The angle of slope is 300

Find the correction for slope and the horizontal distance.
[kldk dh ifjHkk"kk fy[ks aA ,d <kyw tehu ij nks fcUnqvks a

ds chp ekih xbZ nwjh 500 ehVj gS <ky dks.k 300  gSA <ky
la'kks/ku rFkk {kSfrt nwjh Kkr djsaA 4

4. Enumerate instruments used in plane table survey. Describe
any one instrument in short.
iVy losZ{k.k esa iz;ksx gksus okys midj.kks a dk uke fy[ksaA fdlh

,d midj.k dk la{ksi esa o.kZu djsaA 4
OR (vFkok)

Define the following terms.
(i)   Back sight (ii) Force sight
(iii) Intermediate sight (iv) Local attraction
fuEukafdr inksa dh ifjHkk"kk fy[ksa %

(i)  i'pkoyksdu              (ii) vxzkoyksdu

(iii) e/;koyksdu              (iv) LFkkuh; vkd"kZ.k 4
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5. Write relative merits of self reading and target staffs.

Lo;aokfpr ,oa y{;okfpr xtksa ds vkisf{kd xq.kksa dks fy[ksaA 4

OR (vFkok)
Define the following terms.
(i)   Dip (ii) Magnetic meridian
(iii) True meridian (iv) Swinging
fuEukafdr inksa dh ifjHkk"kk fy[ksa %

(i)  ueu ¼ufr½              (ii) pqEcdh; ;kE;ksÙkj
(iii) ;FkkFkZ ;kE;ksaÙkj           (iv) fLoafxax 4

6. Discribe the method of fly levelling in short.
¶ykbZ rys{k.k dk la{ksi esa o.kZu djsaA 4

OR (vFkok)
Describe any four characteristics of contour lines with sketches.
vkjs[k ds lkFk leksPp js[kkvksa ds fdUgha pkj y{k.kks a dk o.kZu

djsaA 4

GROUP-C
Answer all Five questions :
lHkh ik¡p iz'uks ds mÙkj nsaA +:
7. Explain in detail the classification of survey.

losZ{k.k ds oxhZdj.k dh foLrkj ls O;k[;k djsaA 8
                                 OR (vFkok)
Calculate the sag correction for a 30 m steel tape under a
pull of 100N in the three equal spans of 10 m each. Weight
of one cubic cm of steel = 0.078N. Area of cross-section of
tape = 0.08 sq.cm.
,d 30ehVj bLikrh Qhrs dks 10 ehVj ds rhu cjkcj [k.Mks esa
100 U;wVu ruko ij yVdk;k x;k gSA ,d ?ku ls-eh- bLikr dk
Hkkj = 0.078N Qhrk dk vuqizLFk dkV dk {ks=Qy = 0.08 oxZ
ls-eh- >ksy la'kks/ku Kkr djsaA 8

8. The following bearings were observed interaversing with a
compass. Calculate the interior angles of  the traverse and
apply the necessary check.
Line                    F.B. (Forebearing)
AB                             450

BC                             800

CD                             2000

DA                                  2800
 PTO



,d fnd~lwpd ekykjs[k.k esa fuEukafdr fndeku fy, x,A ekyk

js[kk ds vUrxZr dks.kksa dh x.kuk djsa ,oa vko';d tk¡p djsa A

js[kk                        vxzfnd~eku

AB                             450

BC                             800

CD                             2000

DA                                  2800 8
OR (vFkok)

Discuss different sources of errors in chain surveying.
tjhc losZ{k.k esa =qfV ds fofHkUu mn~xeksa dk o.kZu djsaA 8

9. Enumerate methods of plane table surveying. Describe any
one method.
iVy losZ{k.k dh fof/k;ksa dk uke fy[ksaA fdlh ,d fof/k dk

o.kZu djsaA    8
OR (vFkok)

The following readings were taken in running an open traverse
with a compass at a place where local attraction was suspected.
Find the corrected bearings of lines:

      0 0 0 0
0 0 0 0

.     60 30    90 15    38 45    321 15

. 240 30 278 0 221 30 139 45

Line AB BC CD DE
F B
B B

   
   
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,d [kqys ekykjs[k.k djus esa fuEukafdr iBu fnd~lwpd ls oSls

LFkku ij fy;s x;s tgk¡ LFkkuh; vkd"kZ.k dh laHkkouk FkhA

js[kkvks ds la'kksf/kr fnd~eku Kkr djsaA 8

   0 0 0 0
0 0 0 0

    60 30    90 15    38 45    321 15
240 30 278 0 221 30 139 45

AB BC CD DE
   
   

j[s kk

vxfz ndeku

i'p  fndeku

10. The following readings were taken on a levelling staff by a
level. If the R.L. Of first point is 112.000 m, then find out the
RoL. Of the other points. The position of level is changed after
second, fifth and eight readings. Also apply the arithmatic check.
0.675, 1.230, 0.750, 2.565, 2.225, 1.935, 1.835, 3.220, 3.115,
2.875 m.
,d ysoy }kjk rys{k.k xt ij fuEukafdr ikB~;kad fy;s x;sA

;fn izFke fcUnq dk lekuhr ry 112.000 eh- gS] rks 'ks a"k
fcUnqvksa ds lekuhr ry Kkr djsaA ysoy dh fLFkfr nwljs] ik¡posa

rFkk vkBosa ikB~;kad ds ckn cnyh xbZ gSA vadxf.krh; tk¡p Hkh

djsaA 0.675, 1.230, 0.750, 2.565, 2.225, 1.935, 1.835, 3.220,
3.115, 2.875 ehVj 8
                                 OR (vFkok)
Discuss the effects of curvature and refraction in levelling.
Find the correction due to curvature.

PTO
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rys{k.k esa oØrk vkSj vioÙkZu ds izHkkoks a dk o.kZu djsaA oØrk

la'kks/ku Kkr djsaA 8

11. With the help of  theoclo l i te  descr ibe the method for
measurement of horizontal angle by Reiteration method,
fFk;ksMksykbV dh enn ls {k Sfrt dks.k ekius dh fjbVsjslu

fof/k dk o.kZu djs aA 8
OR (vFkok)

Explain the temporary adjustment of a theodolite.
fFk;ksMksykbV ds vLFkk;h leatu dh O;k[;k djsaA                      8

***
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